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Place an “X” if Closed R=%3 (if no indication, we’ll assume Open &) 1 1371 of the 07: times 1% 71°m2?

Please email or fax your completed 5723°m2 using the contact info above by Monday, January 1, 2018 and we’ll send it back marked, 2"2.
All scores 90 or above will receive a financial incentive in the form of a gift certificate. Any comments, suggestions or corrections would be
appreciated. Copies of these tests and answer keys can be obtained by contacting us or by download from our website listed above. Initially,
the “questions only” test will be posted. A few weeks later, we will post the “question/answer” sheet. Please write clearly and use only black ink.
Unless otherwise indicated, all questions are based on >'"w2\R9m23.

This week’s 771°12 starts at the 71wn on the bottom of :)> 7
and goes up to the 71w» on bottom of :75 77.

1. A) When multiple sets of 2°7¥ come to give WT117 MY ...
a) the 0°7Y that come first are examined first.

b) the 772w 9173 are examined first.

B) When examining each pair of 2>7V ...
a) the 7V that comes in first is examined first.
b) the 172w 9173 is examined first.

¢) both 0°7Y are examined together.

2. This diagram shows how the sun and moon set (in the northern hemisphere) when there is a
new moon. Both the sun and the moon descend in a north-western direction. The sun is
slightly ahead of the moon and, therefore, will set first. Soon after, the moon will set in
approximately the same place.
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2. A) Our 7wn says 77m1772 IR AN9XY 27107 IAR? W 7207 2197 ,73297 N 0K 7800, How did the
X713 initially understand the question of 777 XY IR 717 21952

) &
@ @
a) or
) G
@ @
b) or

B) The X713 switched to the other understanding of the question (#A). Why did it reject its
original understanding?

(2:79 21°K) PPN DVW AWY MY DY YW
3. 73m° " learns from this 105 that

A) 112% 5w N0 i INKRD XY, the sun has never seen the concavity (dark side) of the moon.
Why?

B) nwp YW 7nn°ad X7, and (the sun) never saw the concavity of a rainbow. The arch of a
rainbow always faces upward. Why?

4. Our 7wn says that we ask the 0°79V whether the moon was 7771777 X 7119%% of the sun.
Regarding this, one XN°°72 says 0172 K K7 Am1772 ,1°1%0 1727 711985, A second XN™02 says
0192 MR XY 7119¥7 ,11%p 1727 772, How does the X3 resolve this apparent contradiction?
(for the purposes of this test, a lengthy explanation of > is not necessary.)
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5. A Dy7nis an ox goad, a long stick with a point at one end, use to prick and urge on an animal
(Artscroll)

A) If one witness said that the moon was the length of 2 N7 high and the other witness said
that it was 3 N w71 high, can we accept these 2°7Y?

B) If one witness said that the moon was 3 Nv777 high and the other witness said that it was 5
Mmy7n high, can we accept these 2°7V?

C) What possible remedy does the X772 give for the case(s) where we don’t accept the 2>7V?

6. Our X713 quotes a Xn>72 which says, JO0¥ PTVA PR D02V WIPRDY DWW PR 0002 1R
POY PTYR PR DWWV PR 002V 18T ,0002 1.

A) What question did our X773 ask on the Xn>>121?

B) How did the X1 answer this question?

(772:30 XP™Y) $9RIW” °12 DR T 07YR IR AWR 02T

7. A) According to 27 7K XY 12 °01° °27 MR RT3 72 X117 027, what did our 73wn learn from the
words "7 27V DR 7wn 127?

(3:13 NWP”) 27V 07 9N WP PRIPA ONKR IRAPN WK T TN DIPR NINRY DRI 912 DR 137
B) According to X955 27, what did our 7107 learn from the words 2N XAPN TWKR?
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7. C) Fill in the following chart as to when the 71557 of our 72wn applies. (Yes/No)

1172 IR RO 11172 AR
Declared on the 31% day Declared on the 30™ day

(Mawn) Rup XN

(awn) PIT7¥ 9272 TTYHR "M

(Xn°>12) M99

(XN>12) [1ynw *272] TYHK 27

8. Our next 7IWn says ...)N*HY2 201021 X7202 HRO9NA 1297 19 177 7327 MR MInT.
(2:0 MW) :00% WYN R? 277 79K A0 72K X PWYN KD

A) The words °nX 1WyN XY, teach us that we are not allowed to make the likeness of those who
stand °NX, with me. This should include the moon which stands in the heavens. Based on
this, the X773 asked how 7X°7723 127 could have made a 777X of the moon.

Our X 23 quotes a XN°>2 that says, 731 7X7,07I N°120 771709K ,92°7 N°1aN N°2 DR AW KDY
<o TN TAID AR LAY TAID IRV AT,

With the support of this X1*>72, how did »2ax justify 7X°713 127°s 77X of the moon?

B) Our X713 quotes a Xn°>>72 that says, 01712 °199 PwNRWNAa PWRY MNTd NYYn X° DR NwYn X7,
01772, on high, would seem to include the moon. This would seem to negate »2X’s justification
of 7X°713 127. How does >°2X limit the scope of this X1*>72 and thus defend HX°713 1272

(7:2 MAW) :7IRY NRINR 292 MR NINKR TAND MR Dyan 20Rwa MWK 730 901 HoD 10 wyn Y
C) The X3 then brought the Xn>>72 that says ... N2 0°2012 171291 70 MR ,0°W2 R
which explicitly includes the moon. How did the X713 initially attempt to answer for HX>973 127
from this Xn>"21?

D) Why did the X773 reject this answer?
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9. A) The X713 then said why 7X°713 127’s situation was different. What was different about his
713577 NTIN?

B) Why did ?X12% make 77777° 27 deface the image on his signet ring that non-Jews made for
him?

C) Why wouldn’t there be the same issue with the X0771X, the statue of the King in the 2°n» qw
shul in Xy7971?

D) Why wouldn’t there be the same issue (#B) with 2X°513 27°s 717X of the moon?

10. What two other answers did the X773 give for X973 127?

Please feel free to add any questions/answers, N17v77 or headlines of the n1°x10 from this week’s 7

Utilize our Shoel U’meishiv online at http://www.dafaweek.org/discussion-forum

Let’s plan to be 7112 the noo» focusing on a simple 77117 of just the X371 X5pw inside:
Were you able to make a few minutes every day for an immediate 739177 of the portion just learned?

Were you able to make time on n2w or Sunday to do a 777117 of the n7?
Were you able to make time on naw or Sunday to do a 777317 of the last 3 2°97?




